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1x1=1 2m1=2 Ax1=3 dx1=4 Ex1=85
i1ix2=2 2mE=4 AxZ=6 dxI=8 Sx2=10
1x3=3 2m3=86 Ax3=9 d4x3=1412 Sx3=15
i1ixd4=4 Z2md4=8 Ax4=12 d4x4=16 S x4=20
1x5=5 2 S5=10 Ax5=15 4 x5 =20 Sx5=25
i1xBE=86 Z2mB=12 AxB=18 dx6=24 SEx6=30
1 xT=T Z2mT =44 IxT =21 4w T =28 SxT=235
1x8=8 2w B8=16 AxB=24 4w 8= 32 Sx8=40
1x89=9 Z2x9 =18 Ax9 =27 4 x 9 =36 SxB8 =45
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Gxl1=6 Tx1=T Bx1=8 Sx1=9 1i0x 41 =40
GBx2=12 Tx2Zw1d BxZ=16 BxZ=18 10 x 2 = 20
Ex3=148 T3 =21 Bx 3 =24 8x3=2T 10 = 3 = 30
6Boxd =24 Txd=28 8xd4= 32 9 xd4=36 10 x 4 = 40
Bx5 =30 Tx5=235 Bx5=40 x5 =45 10 x 5 = 50
Bx6=36 TxE=42 BxE6=48 BxE =54 10 x & = G0
GBx T =42 TxT=40 Bx T =56 BT =863 10x 7 =70
Gx8=48 TxB=56 B8 x 8 =64 BxB=T2 10 x B = BO
B x 9 =54 Tx9=853 Bx 8 =T2 9x9 =281 10 x 9 =90
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